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Estimate an arc length of a given function,
1 (11

el g f g i

b8

[ Sl ) 3&3;,3\3\)&\}

12-7 s oaia¥l J oY) Jigmad) oa ALicd) o aa

Estimate the length of the curve y = f(x) on the given interval using

n=2

n=2 Juil 0 < xsg syl e f(x) = cosx AN hada Jgh a8 (7

a)4.002 b) 1.906 €)0.124  d)2.90

f:\/l + (f'(x))?% dx  Asulal) 43y 5k
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Estimate the length of the curve y = f(x) on the given interval using ,n=4
n=4 Juil 0 < xsg syl e f(x) = cosx AN hada Jgh a8 (7

a)4.002 b) 1.909 €)0.124  d)2.90

[ PVTH TR i m]

Estimate the length of the curve y = f(x) on the given interval using  n=2 n=4
n=2 uil 0 < xsg syl e f(x) = sinx A bada Jgh 38 (8

L la)1.906 b) 2.90 €)0.124  d)4.002
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Estimate the length of the curve y = f(x) on the given interval using n=2

D n=2 uil 0 < x<3 8l e f(x) =vVa+ 1 Aadad dsb 98 (a9
a)3.168 b) 1.167 )2.167 d)3.1

PVIFF ) vt i

estimate the length of the curve y = f(x) on P Y =fR) el Jodo 530
the given interval using n = 4 n=4 plasiul Saumet 52000 g

f)=vx+1,0<x<3

iy

2)3.168 b)1.167 ©)2.167 d)3.1
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n=4 il L2 s Jef(n) = il dsho (10

estimate the length of the curve y =—f (x) on
the given interval using n =4

a)3.108 b) 1.132 €)2.131  d)3.132

PVTT )R Asetal e

Estimate the length of the curve y = f(x) on the given interval using n=2

n=2 Juidly —2 < x<2 syl e f(x)=a% 41 ek Jsh e (all

gt

a5 b) 45 0)4V5 d)3V5

a)8.155 b)8.131 ¢)8.94  d)9.853
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estimate the length of the curve y = f(x) on Y =f() o) Jobs 33
the given interval using n = 4 n=4 plasiwl dsasel 3200 (17

a)8.155

fR=x2+1-2<x<2

b) 8.131 €)8.94 d)9.153

2023-2022 » 12 Hladal

Q.1 Estimate an arc length of a given function, use n = 2.

n=2

4

a)2+/2

2.828

Py —1 < x <1 sl e f(x) =% 2 hada) gusd sk (12

b)v2 c)V6 d) 2
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Find a limit algebraically or graphically, if it exists.

e

Example3 n

73 e llal) QS Liily Aol sie 4l ALl

Use the graph determine a!l'PwL f(x) Jim f(x) 2= il Jll pasind
y
A
a)—2 b) 2 C) By g9a y& d -1 1

24

Use the graph determine lim f(x) Aol Fhad) Jiaill padiiud
y
A

a) — 2 b) 2 c) DNEssas« ¢ d)1 1--/ /

241
Use the graph determine = 1im f(x) gy el Jeiaill ardin
A
a)—2 b) 2 ¢) DNEs:ssse ¢ d) 1 2/
./
_=2 —ll 'i é » X
14 ./
— 4
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Use the graph determine 1im1 f(x) gy Stal) (i) aadi
i

y
A
a) -2 b) 2 ¢) DNEssase ¢ d) 1 2+ 5
| / /
} } f —» x

=2 ol | | 2

-1+

—nd

; Find limits of polynomial, rational, and trigonometric functions using theorems. 10
1-28 85
M sl el sl a8 ) g

Slasially Gl Jsad) oa ALicY) oda aa)

Evaluat the limit if it exists Ciaa g O ALl dad aa )

1)limx? —3x +1
x—-0

1)—2 2) 2 3) 525 5e 4H1
2) lim V2x+ 1

xX—
1) — 2 2) 5 3) sasm e 4)1

3)lim cos~1(x?)
x—0

1) 0 2) T 3) sasnse 4)

N[ §

H 0503211610 s 52als 4alrali2025 -2024 ple 1 b Sluialy ) 3alal 12 Ciuall J<a




Evaluate the limit if it exists a9 o) Al dad 2a gl

a)lim 2>
x—2 x“+4
2 2) 3 3) & 4) 1
)8 ) 3 ) s ne )
I x2—x—6
(5) -3 x—3
1)-2 2) 2 3) asase 4)5
2 -
(6) li X“4+x-2
x»1x2 —3x+2
1)-3 2)3 3) asase 4)2
: —x-2
(7) Lim= Zx
x—2 X°=
3
1)4 2) 3 3) 1 OF
3
. -1
(8)Lim ———
x—1 xXc+2x-3
1 2 1 3) 3 4 1
) ) 2 ) )3
} sinx
9)lim
x—0 tanx
1) -2 2)1 3) sisnse 4)0

n 0503211610 s 52als 4alrali2025 -2024 ple 1 b Sluialy ) 3alal 12 Ciuall J<a
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Find limits of polynomial, rational, and trigonometric functions using theorems,

3 (128) 8
g bl il bl i S D U

Evaluate the limit if it exists Ciaa g O Algl) Aagd 3a o)
. tanx
10)lim
x—-0 X
1)—2 2)1 3) dasase 4)0
—2x+1
. xe
11) 1im

1)-2 2) 2 3) e 4)—e
12) sy o 1ir% x2cscix dad 2021-2022 ool
X—
1)2 2) 1 3) 0 4) 8352 50
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Sacial Gl Jligmad) o8 ALicl) oda aal

Find limits of palynomial, rational, and trigonometric functions using theorems,

Gl il bl i O

(881 all g Al S

a Sy S e il asns B\

Vx —3 G Vx +3 (Ve =3)(Vx +3)=x-9
Vi —asdVr+tae  (Vx -a)(Vxta)=x-a
Vx —+a A Vx ++a (Vx —Va)(Vx +Va)=x-a
VXx+5 =7 G vx+5 +7
(Vx+5 —7)(Vx+5 +7)=x+5-49 =x— 44

- /

Vx+4 —2
13) lim—
x—0 X
1 3 2 1 3) 4 4) 52 -
)4 ) m ) ) 335 50 &
2022-2021 oladia)
14) 1 2x
im
0. 3 —vVx+9
1
1) 2 2)2 3) —12 4) 48
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4) 525> 90 p

%

o

Crsa £ gana g pirsa G (§ 81 Judas

x—1
15)1lim
-0 /x —1
1)1 2)2 3) -1
a? 4 5% = (a +b)(a* - ab+b?) J,‘j‘&}m
a*=b? =(a=b)(a® +ab+d? omasa w4 A
— =
Evaluate the limit if it exists
3
16) lim x° — 64
x—-4 x — 4
1) -4 2) —48 3) 48
. 1 2
17 1 _
) = x—1 x2 —1
1
1)—2 2) 2 3) 2

G g Of Al dagd 2a )

4) 4
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3 Find [imits of polynomial, rational, and trigonometric functions using thearems. "
128 8
Gl i bl oo 5 D b

Evaluate the limit if it exists Ciaa g o) Al dad aa )
18) lim (2 _ 2 [x—d] gt e aadte

e ga 3llal) Sl Lo imsganl) 235l 1)

bty el oy Bl S5 ml

1) -1 2) 1 3) 0 4) DNE3: 5> 34 58
lim L=¢~
19) x>0 1 — ex
1 2 2)2 3 ! 4 1
) ) ) > ) >
i SIPUIXT e 5a (20
x—0 x
1) -1 2) 1 3) 0 4) DNE33 5> 34 58
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Find limits of polynomial, rational, and trigonametric functions using theorems,

g ol by bl i) S D) U sy

(1-28) 8

fo =1

Evaluate the limit if it exists

1)0 2)1 3) 4 4)
X +1
f(x) =
3x+1
Evaluate the limit if it exists
1)-1 2)—2 3)0 4)
(2x+1
f(x)=<3 ,
kZX—%-I ,
Evaluate the limit if it exists
1)-1 2)—2 3) 3

X < 2
X = 2

lim f(x) 2

xX—2

X

2 } il 131(21

D.N.E?3 s> 5« &

(22
o x<—1
¥> 1 calss 1511

1

lim f(x) a5
x—--—1

D.N.E535> 50 p&

x<-—1
—1<x<l1 i
calss 13l
x>1

lim f(x) 2
x—-1

4) D.N.Esissert

0503211610 s 52als 4alrali2025 -2024 ple 1 b Sluialy ) 3alal 12 Ciuall J<a




(2x+1 o x<-1 (24
= —1< X<
f(x) =<3 , 1<x<l1 e 1)
2x+1 x>1
Evaluate the limit if it exists lim1 fx) 2=
X——
1)-1 2) -2 3) 3 4) D.N.Es2sssan
(25) L B2 — 4 Evaluate the limit if it exists
h"fgi h
1
1)4 2)3 3) 1 4) 3
I (1+h)3-1
(26) % h
D1 2)-1 3) 0 4)3

0503211610 = 523le 4alrall2025 -2024 als 1 i cbudly ) Balal 2 12 cinall JSa




g pdlall J) gall dlgs

sinx - sinkx Kk

= 1 lim = —

x—0 r—0 mx m

. t . tank k

lim—/=—1 lim ———~ — =

x—0 x—0 Mmx m
1 sinf@ cos@

cscH =—— | secO = tanb = cot = —

sin@ cost cost sin@

Find limits of polynomial, rational, and trigonometric functions using theorems.

(12

Ul pul il S 5 i

(] ‘

1)) D.N.Es s> 5e 8

2)) D.N.Esss 508

2) 3

Sl G Jlgmad) o ALic) oda aal

Evaluate the limit if it exists

3) 1

3) 1

U] =

4)

4)

v =
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2l ) Jlaad) oa ALiid) sda aa)

Find limits of polynomial, rational, and trigonometric functions using thearems,

4 Example3 Bl
Ul plas eyl s 845 ) B
1 (x + 1) Evaluate the limit if it exists
lim sin
x-0 2
1 T
1)0 2) E 3) g 4-) D.N.E5 5> 90 p2
lim xcot(x)
x-0
1)2 2) 3 3) 1 4)) D.N.Essse i
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ALilal) g A88Y) g Al ) A 83N Ja ghadd) S35

aliall Jlial -2 sl -1 p Ased 1) L ) Ja gladl J

n
F) = 0 - s

y =0 4ilslaa 88 el il n < m plial) A3 e sl aewd) 43 )
y:% dililas cdlalaall acd) 1 = 7 alal) A ja (s sbd Jansd) Ay
A8 Glia ol a0 Y 1 > alall A G s ) Ay 0

v
- LAl Ay L) Ja ghadl

1 J)dhay allall da 3 pa S Jocad) Ay 3 LS 1) Jila o plia Jad Ad)alt ¢y oS,

4
E Sl aladinly o jlal) Lo gad "Ll D
|
1) xli?g’t_f(x) =t and 2) Jcli'fcrgrf(x) =400 813 ZVON N | RS TR F-IN L

—— -
g sue L (A baldah) lim f(x)=L o lim f(x)=L : dlulf cilss

y=L @bl @l qmdas  f(X) Vlaliole

0503211610 s 52als 4alrali2025 -2024 ple 1 b Sluialy ) 3alal 12 Ciuall J<a




ol J)gaad) g2 ALY o aal

Find horizontal, vertical, and slant asymptotes using limits. (B33

g i ol by Y ) s sl

Determine all horizontal and vertical asymptotes. 488y 9 Al ) o ) o ghad daa

232) f(x) = =

4-x2
a) x=2,-2 y=-1 by x=2,-2 y=0
c) x=2,y=0 d x=2,-2 y=1y=-1
23b *
)f(x)_4_x2
—a) x=2,-2 y=-1 b) x=2,-2 y=0
c) x=2,y=-1 d x=2,-2 y=1y=-1

242) f(x) = 7=

a)y=-1x=1 b)y=1 ,x=2

€) il s i Ja had Ll dy=1y=-1
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Determine all horizontal and vertical asymptotes. i) 5 Apal N B Dagloy oo

X

24b) f(x) = Ny

a)y=-1 b)y=1
ox=2,-2,y=1%*1

d)x=2,-2 none ix)&ighhin Y

Determine all horizontal and vertical asymptotes. 2881 9 A 1) A s ghad a3a

3xZ+1
x2-2x-3

25) f(x) =
a)x=-3,-1 y=3 by x=3,-1 y=3

€) il s i da ghaa Lyl dx=2,-2 y=1y=-1

26) f(x) =

1-x
xX24+x—2

a)x=-2,1 y=-1 byx=-2 y=0
0Ox==2,1 y=1 d)yx=2,-2 y=+1

0503211610 s 52als 4alrali2025 -2024 ple 1 b Sluialy ) 3alal 12 Ciuall J<a




(A i A1a ) A88Y) 4y AL Ja ghadd) aa gl 2022-2023 ) ) s (laial

Determine all horizontal asymptotes.

) f(x) = 7=

Vx?+1
a) y=-1 b) y=0
oy=1 dy=1, = =

Determine all * vertical asymptotes.

f) = 5
a) x==1 byx=1
c) x=-1 d)y==+1

Determine all horizontal and vertical asymptotes.
27) f(x) = 4tan1(x) — 1
T
a) x=-+nm, y=-1
b) x=-1+ y=+-
c) y= ig None awl ) o liihaghad aa 3 Y

d y=42r—1, None 4wl l@hshiangy

d,a8Y) el Ja glad das

2023-2024 2l
Aol ) 3 Ja ghad das

4881 g Al ) o LT Ja glad das
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Saia¥l (ualdd) Jiigud) oa AL 038 A

Determine all horizontal and vertical asymptotes. A88Y) g Al 1) L)) L glad 2

28) f(x) =1n(1 — cosx)

a) y=2nm b) x=2nn

determine all vertical and slant asymptotes — dlilall g 4l ) o U3 Ja gl aa g

X3

29) f(x) = 4—x2

a)x =12 ,y=-x
b)yx=2 ,y=—x
Ox=-2 ,y=-x
Oox=-2 ,y=x

determine all vertical and slant asymptotes Ailal) g Al 1 o LY Ja glad An

x2+1

30) f(x) =

aA)x=%+2 ,y=1—x

x—2

b)yx=12 ,y=x+1
ox=2 ,y=x+2
dx=-2 ,y=x-1

0503211610 s 33ake 4alrall2025 -2024 ale 1 b Ciladaly ) 3alal 4 12 Ciuall JS




Sia¥l ) Jhiged) o ALicl) o2a aal

3
31) f(x) — x2+x_4
—1++17
a)x=——7— ,y=x-1
2
-1+V17
b)sz y=x+1

Oox=2 ,y=x+2

0503211610 (= 5:aks Lalxali2025 2024 ple 1 i iyl Sakal o 12 ceall S




L 4

A
| Ada =St Cji::_:l_,.a.‘i.’ll Jo¥) () dagl ) Bas gl

Lo 120a g dignn Alaki ie dgladh a1ty GLETESS ALE L1 (6f o yES palatoas L Juolial] coligalal wal (30

%

x =Xy wia J(X) Dl (Galaal)) ol e a2t

The linear (or tangent line) approximation of f(x) at x = xo is the function

L(x) = f(xo)+ f'(xo)(x — xp).

(Jlpgd 3ucls) ad,all as aesadl 1 S (puydl

L) — 2 o im L) _ 0 ¢ ttazaf g 2 Blama AL Jlgs g, f ciles 13)
e g(x) e e g(x) 0

Fed! .
7 T~ -
lim L) _ lim JS'(x)
x—c g(x) . :
2,|% JEadll e Tyan pid ciliadn I Lleod inns B8 y0n pid y3] e 5 gy
o0
50— 00 oy kgl sl 51el il
OXOO o 0 ) _
— o) = dewdll Kb Jl LSl 0dd Dy
00 OOO 100 0 0
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s 2l ) Jpd) g2 ALind) sda aa)

(14] PEL

Find the linear approximation of a given function at a given point

s Hlaws A gl oyl sl ( dag) 1) Bas gl (g <Y 1

L y

14

X = xg s f(x)d Ghsdl cuydill asgl

14) Find the linear approximation to

1) f(x) = /x, Xo = 1,V1.2
1 1

a)L(x)=§+Ex ,y=v1L.2 =11
1 1

b)L(x)zE—Ex , y=V1.2 =1.1

1 1
OoLx)==-+=-x ,y=v1.2 =2.2

2) f(x) =(x+1)1/3, xo = 0,31.2

1
a)L(x)=—§x+1 ,y=31.2 ~ 1.066
1 3
b)L(x)=§x+1 , y=V1.2 =1.066
1 3
c)L(x)=—§x—1 ,y =V1.2 =~ 1.066

1
L) =Zx+1 ,y= V1.2 ~2.066

0503211610 s 52als 4alrali2025 -2024 ple 1 b Sluialy ) 3alal 12 Ciuall J<a




s 2l ) Jpd) g2 Adind) sda s

14) Find the linear approximation to .x = xgaic f(x)Jd sl e ,aill as gl

3)f(x)=\?2x+9, x9 = 0,V8.8
1
a)L(x)=—§x+3 ,y =1V8.8 =~ 2.967
1
B)L(x) = zx+3 ,y=v8.8 ~ —2.967
1
c)L(x)=§x+3 , Yy =V8.8 =~ 4.967

1
d)L(x) =§x+3 , Yy =vV8.8 = 2.967

9 F@=2. x=1

AL(x) =2x+4 ,y=—— =~ 2.02
)L(x) Y =599

2
b)L(X) =2x—4 ,y=m ~ 2.02

2
cL(x) =4 —2x Y =399 ~ 2.02

dL(x)=x-3 .,y ~2.02

~0.99
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s 2l ) Jpd) g2 Adind) sda s

5) f(x) = sin(3x), xo = 0,sin(0. 3)

a)L(x) =3x ,y =sin(0.3) ~ 0.3
b)L(x) = -3x ,y=sin(0.3) = 0.3
cL(x)=3x—-3 ,y=sin(0.3) = 0.3

d)L(x) =-3x+3 ,y=sin(0.3) = 0.3

6) f(x) =sin(x), x,=m,sin(3.0)

a)L(x)=m+x ,y=sin(3.0) ~m—-3.0
b)L(x)=mr—x ,y=sin(3.0) ~m—3.0
oLlx)=m+x ,y=sin(0.3) *m—0.3

dL(x)=—-x+nm ,y=sin(0.3) ~m+0.3
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e uddd) Jipad) ga ALiLY) oda aa

" Use 'Hopital's rule to compute limits in various cases

i 0 i e gl pi

(112 W

Find the indicated limits.

1) ] x+ 2
xllglz x2 —4

—1
1) -4 2) —
. x2 -4

2) M 3x+2

1) —4 2) 4

1) — 4 2)

oL

Il 51 a0 18 )Rl Aulgl) Cocen)

3) 35252 DNE 4)

3) 35252 DNE 4)

3) 33550 DNE 4)3
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I x+1
4) o x2 +4x+3

1) -4 2) 0 3) s> DNE 4)3
2t
-1
5) lim ¢
t—0 t
1) —4 2) 0 3) 2525 DNE 4)2
sin(t)

1
1) — 4 2) 3 3) 335250 DNE 4)3

1) —4 2) 1 3) 3525 DNE 4)3
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8) sin(t)
im a0

1) -4 2) 1 3) a0 DNE  4)3
sin(2x)
9) lim sin(x)
1) -4 2) 1 3) s3ssse DNE =~ 4) —2
10) i cos 1(x)

1)—4 2) 1 3) 2 e DNE 4) -2
~sin(x) —x
lim 3
x—0 X
11)
1
1)—4 2) — 3 3) 25 DNE 4)3

1
1) =4 2) 3 3) 52533458 DNE 4)3
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Aa) ) Baa ol) g clilel) Bas g S

e gudbaad) Jlpad) oa ALicY) oda sl

a) Determine the continuity of a function at a given point. (29-32)&(39-41)

P95,96
alflans dlad e A5 JUall § gl
16

b) Find limits at infinity and limits that are infinite. (67-71)
) &) wis iy A J] s ) Ol sl]

29)

107

Q.16 (a) Suppose that a state's income tax code states that the tax liability on x dirhams of taxable

income is given by T(x). Determine the constant ¢ that makes this function continuous for all x.
A=l e lydgadl e x Lle y2 9 020dl (oo puadl a3l S ke pads be gy WA wu mall geslal| S w28l (@) 16.—w
b g dlaie dla)] sda Jeoo A ¢ Colld] 3ds T(x) 2 gud g0 du yuall 2ol

dhais dla)] (5555 Cuusw € doud | (3aa3ll

0, x<0
T(x) =<:0.14x, 0<x<10,000
c+0.21x, 10,000 <x
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e gudbaad) Jlpadt a ALicY) oda sl u-ﬁ-as

30)

Q.16 (a) Suppose a state's income tax code states that tax liability is 12% on the first AED 20,000 of
taxable earnings and 16% on the remainder. Find constants a and b for the tax function T (x) such that

T(x) is continuous for all x.

ARy 20 ﬂﬂﬂdglul.: 12%5]4.!;_;\4,.@”ebdﬂwulul.:umhdgmﬂ,ﬁuu)mﬂuybﬂ ulua‘,.dl (a) 16.—w
dlaie T(x) 0955 S T(x) dis | ddlad) b g ag_;.qu.aJL.L:&_gl t_,SLaJ|Ul.:1ﬁ%3ﬂLuJanJMlJJ|CbJ2UU.a

X A gae> e
dlaie Ul (555 oz b g @ daud sl Bl
0, x<0
T(x)=<a+0.12x, 0<x<20,000
b+0.16(x - 20,000), x> 20,000
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(S A i) Jigadd) 5A LAY o3 3

(39

Q.16 (a) Determine values of a and b that make the function continuous.
Alaie U1 Joxi QU b g @ pud 925 () 16.—

2sin(x
x( ), x<0
fx) = a, x=0
bcos(x), x>0

(40

(.16 (a) Determine values of a and b that make the function continuous.
Alaie Ul Joxi { b g a pud 351 (@) 16,

ae*+1, x<0

fi) = {sin2(3), 0<x<2
2

xt-x+h, x> 2
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(41

Q.16 (a) Determine values of a and b that make the function continuous.
Alaie d1a) Joxi I b g a psd 0>l (@) 16w

a(tan'l(x)+2), x<0
fx) ={2ebr 41, 0<x<3
In(x — 2) + x2, x>3
o) S
b>1 L
lim b* =0 lim b* = o0
X——00 X—00
0<a<l1
lim b* = oo lim b* =0
X——00 X—00
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w b>1 (S
lim &* = € el
X—+0 0 i 0<b<l
(67
Q.16 (b) Suppose that the length of a small animal t days after birth is h(t) = 1+:?;3) - mm. What is

the length of the animal at birth? What is the eventual length of the animal (i.e., the length as t - )2,

. 300 " £ . B e s
iz gl oo ad s o h(8) = T sa83dall o ol i e o f 22l b) 16

1+9(
(t = oo leaie Jghal «(s1) lgusel Sl gkl Lag S3a¥ )l

(68

Q.16 (b) Suppose that the length of a small animal ¢ days after birth is h(t) = mm. What is

2+3(04)t
the length of the animal at birth? What is the eventual length of the animal (i.e., the length as t - )2,

50 8333)l (00 pll asy o glou> Y ol 23 (b) 16 .0

(£ > oolasis Jshall sl) gloassel) Silgall Jaall Lag SB0¥

sis glgwd Job Lod 2o Gao () = —

T 243(04)t
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(Akomil 039 Bi>9) pebin m Zuls Aissy v =0 f1/ 5 Lol &#uﬂi&mq-g'l ayiail (69)

(Aunoeil 593 Bmg)  ASL/ Wigs [Layud Zl5 593 5405 cusd @eunndl goleita

Ft
9w (198 G Vi = P Uslalls Slasd 0) (T2 Vy Lgzil) muunnl de puu ol
B Fet
Vi = \/ . 7o slally Glans Vi dgaill ! e oyl (2liiiial (098] iy
mc + F°t
;._3.;'@]'! ey C il
a9l
(1) limyv,

[—>C

(if) limv,

[—»
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(70
(.16 (b) After an injection, the concentration of the medicine in a muscle varies according to a

function of time f(t). Suppose that t is measured in hours and f(£) = e "% — ¢™042¢  Find the limit
of f(t) bothas t - 0 and ¢ - co.
g 0leludl gald) £ 5 goyidid  f(8) a1 &g Casl] o elowl 38y calizy i ol wsy (b) 160

- o0y t - 0leic elgu 4> e (1) dlgi azgl f(£) = 7002 — g~ 042
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&

Jleal & 'CJJLLAH Aadl Jeas &LEGJ'I sl ola Vo bl dc yun LJ:“JSH {J'"‘Ci)l"'a M| wie (71)
VOZR
h= >
19.6R— v,
oo sy R=06378000m oo

m/s Aalalls Slass sl 51 Taglie

Vo = 0 eem ol e 13U s (1)

Tgzall depeud) acis ally (1> 90) sama jud plas, ¥ Jaad Al V) Zumshl Zeudl) asf (<)

Ve 321 Lt 3a,09 cudladU

Ignoring air resistance, the maximum height reached by a rocket launched

2
v“—Rz m/s, where R is the radius of the earth.
19.6R—v,

In this exercise, we interpret this as a function of vy. Explain why the
domain of this function must be restricted to vy = 0 . There is an additional
restriction. Find the (positive) value v, such that h is undefined.

with initial velocity vg 1s h =
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5
[ (Jaastsel) 124,80 |

éwomgﬁgjfoﬂjﬁ|a1&ﬁulg
© 5 Q4 aall L2 danali ! lim L2 i
o= 0 x—c 9(x)
/ .
lim L2 — jjm L2 .o
x—c g(x) x—c ,gf(x)
O 030 0 gl 5358 ki y Lt ingl gy o 551
@ 0 o
w0 al X —> ,X = —00
— 3 7l g ) (e g i
| x-ct x> c
) o ,b>1
lim 6" =

“ a 0 Ooo B )
0 400 '+_oo_) 6_’0061;&

a X oo = t+oo w4+ow=00 , cota=00 g =1 ,0" =00
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Use 'Hopital's rule to compute limits in various cases
1 (3040) pis

s Ol § gl g Bl it

In exercises 30-40, find the indicated limits I Sl sl

\Vx
30. Ilm —
x—0+ In x

31 lim(Vx2+1-2)

X—0

32. lim(lnx — x)

X—00

n 0503211610 = 23le 4alrall2025 -2024 als 1 i bl ) Balal 2 12 cinall JSia
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In exercises 30-40, find the indicated limits WL SLleid) sl

33. lim (1 + 1)
X

X— oD

34. lim
x—oo | x — 2
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In exercises 30-40, find the indicated limits I Sl sl

X

35. lim 1
x—0t \/E x+1
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In exercises 30-40, find the indicated limits W Sl sl

37) (1)Jr
lim |—
x-0t \ x

limnx=—0

x—0"

. 1/x
38) }Ll{% (cos(x))
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In exercises 30-40, find the indicated limits W Sl sl
Axll Cay g2l
t / € 2321l oy s \
t—3 .
lim | —— _ 1
tooo \t+ 2 hm(1+—) =e
X—00 X
39)
a X
lim (1+—) =eta#0

n 0503211610 = 23le 4alrall2025 -2024 als 1 i bl ) Balal 2 12 cinall JSia




cudbad) J)pead) ga ALY o aa) (US4 g sl LAY Bas g "MLl
Ii Sketch the graph of a function using the graph of s derivative. (13:1] 151
) s i
S A dnda Sl Jiadl) an ) J e gall (ALl Jiiall aadiid
y=fx
13, (a) y

1I.
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y=f(x)
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oadbaad) Jliged) 98 ALY 238 sl

15. ()

L~

y = f(x)

Q
Naw?
O
—
()
~
o
—

gl leinl

prd e lrenatern]
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y=fkx)

16. (a)

y = f(x) L

L

c) d)

gt Faveelrrrsternl

|||||||||||||||||
______

c) d)

o
2— .
4
p gl
3]
1.6 5
i 2]
08— -
i o——¢
I TeeTTTTTT T T T
R 2 1 | LR ) R I S
o .00 BB 5 4+ -3 - 2 -1
- e -1
~1 64 0l
4 -2
2 4 ¥ o
- -3
-3 ]
i -4
4.0~ E
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Use the given the graph of f'(x) to sketch a plausible graph of a continuous

function f(x)

S (x)

[ Lol fall Jpine ity s oyt [ 1all s ot 3laall Juiaill ackiniad

17. (a) f

T \I‘Til!l?lu{ 111 i‘\il'-i‘\HT

: ; h v ©
|IERA SRR\ SRV ARUNRRNERAANENE,
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Use the given the graph of f'(x) to sketch a plausible graph of a continuous

function f(x)

[ 3l U1l Jpine it s ey [ 1l s oh! 3leadl Juiai] akiniad
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QELdY) Glallaiacy j sy

dy df d f ddagh die 1Al julaal) Jie \
f/(x)=yf=a=a=af(x) Aeaiall daalll e o)
il Jaza

- J

(BLELAY) a0 8 SXS
SlaniW aclqed

d Zioy - ) ol 2 L ol o Lo Gtda 3| yia| a3
e e e rrest B R e sl e
& 10 [l Al e Ll G- el okecdiv
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l%[f(x)xg(x)]=f'(x)><g(x)+f(x)ng(x) \

aLal e e (alt) dantie 2 dasadll — plat) 2. doced| ne) Locadl| 3l

d {f‘(ﬂ} _ ST xgx) — f(x) x g'(x)
dx | g(x) [2(0)]

il J) gl diidia

S

d . d .
— 8lNX — COS X — COS X — —sInx

dx dx

a d
— tanx = sec?® x = cotx = —csc?x
dx ax

d

— secx = secxtanx E—-cscx=—cscxcotx

x

ax
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sin x=———, for-1<x<1

cCos 'x=——, for=-1<x<1 Tuasal) J) g2l Ak

_—

| el glll Jlgull ddidine | |2L“u.u)’| gl Adiin I

i — f"(x) d (x) _ _flx) '
dxmf(x)_ 7o) Ee-" =e/"'x f'(x)

ia-”” =a’"'x f'(x)xIna
dx
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Understand the relationship between continuity and differentiability.

! . (1822) 151
GBSy Ll o Byl o

Find fF'(0) if it exists.

(19) £ =1 XD ~ £'(0)
oo 3x+1 , x=0 B39 9a cals ) RE)
a) D+f(0) = 3 ) D_ f(O):2 ) ](‘.' (0) doeS I'lOt EXiSt. 33‘5;},4 ‘)_u; 4\" auiall
b) D+f(0) = 2,D-f(0)=2 , £'(0) exist. o2 gn A
C) D+f(0) =3 ) D- f(0)=2 , f’ (0) does not eXiSt. BJ};)A ),3.9 danial)
d) D:+f(0) = 3,D-f(0)=2 , £'(0) does not exist. 335 ga Lt ATLA)

(20) f(x) = {0

2x . x>0

a) D:f(0) = 0,D-f(0)=2 , f'(0) does not exist. 335a sa i AELLA)

b) D+f(0) =2, D-f0)=2, f'(0) exist. 23 52 5o AL
c) D+f(0) =2,D-f(0)=0 , £/(0) does not exist. s ge e L
d) D«f(0) = 3,D-f(0)=2",f’(0) does not exist. 335a sa i AL
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2 33990 colss 131 £7(0) uayl

X ]
(21) f@jz{ .

x<0

X ., x=0

a) D+f(0) = 0, D-f(0)=0 , £'(0) does not exist. 33 5n 5o e ARLAA)

, 0b)D+f(0) =0, D-f(0)=0 £'(0) exist. 53 4 e Akiall
¢) D-f(0) =2,D-f(0)=0 , £'(0) does not exist. 53 5a g0 e AELEA
d) D+f(0) = 3,D-f(0)=2 , f'(0) does not exist. 835 9oy AT
2X . x<0
(22) (9 =1 .
X +2x . x20

a) D:f(0) = 0, D-f(0)=0 , £'(0) does not exist. | sismse e 4aidl

b) D+f(0) =2, D-f0)=2 , f'(0) exist. 23 52 5o AL
c) D+f(0) =2,D-f(0)=0 , £/(0) does not exist. s ge e L
d) D+f(0) = 3,D-f(0)=2", f'(0) does not exist. B3 ya et Aiiall
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Find the average velocity and the instantaneous velocity at a given paint, (21:24)

Bl e i il oy il ) o

163 o guisll 21-24¢m

e i Ao & el avad a8 gall 4013 A0 J) gal) cpe A3 S Jiad
Use the given position function s(t) = —16t? + 40t + 10 , to find the

Velocity function Acceleration function dgatiall de pud) Alla a9l -1
£ buali Ay -2
a) v(t) = -32t+40, a(t)=-32
b)yv(t) =32t+40, a(t) =32
a) v(t)=-32t—40, a(t)y=-32
b)v(t) =32t—40, a(t) =32

22)s(t) = —4.9t* + 12t — 3

Velocity function Acceleration function g bl Alla -2 dgaiall 4o puad) Adla 22 )

a) v(t) = —32t+40,  a(t) = —32
byv(t) = —9.8t+12, a(t)=-9.8
¢) v(t) = -32t—40 , a(t) = —32
d)v(t) = 32t — 40 , a(t) = 32
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Crall) O paad) g2 ALicdY) 038 aaf

Velocity function Acceleration function g el ddla -2 dgaiall 4 juad) Al 2 )

23)s(t) = vt + 2t*

a) V(t)=%+4t, a(t)=—45t_3+4
B)v(t) ==+ 4L,  alt)=——+4
vt N
O V) =—tat, a®)=-———t4
2Vt 43
Do) = ——+4t,  alt)=———+4
vt G
Velocity function Acceleration function g ol ddla 5 dgatiall de pud) A2 22 g

24)s(t)10 — 1—:’

10 20
10 20
10 20
C) v(t) = _t_z ) a(t) = t_3
10 20
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aeall) gl 92 ALisY) s3A aa)

, ot et 130 N
)il
find R (1) R(1) a9 h(x) = f(g(x)) ¢332
SOk fwne e g g
aAh'(x) =4 bR =-9 c)h'(x)=—6 d) h'(x) = —4
""""" i K® W@ e e a0) 56

______________________________________________________________________

' (x) = 4 b) h'(x) = —9 OR(X)=-12 d) k(&) =4

dga 8 A0 i dua g3l ADAY)  Adaadla
f(=x)=fx) , f(=x)=—-f(x)
da g Adla Lgiiiia g8l A

fo)=—fx) , [fE=0)=f®
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35. (a) f(x?)

a)2f (x*)f' (x*)

() f (&)

a)2f (xf' (x?)

)y f(x)

aeall) ) igaadl g2 ALicdY) o3 sl

Find the derivative of .f aJlall diidied) o g

b) 2xf(x*)f' (x*) c) 2xf'(x?) d) 2xf (x?)

b) 2xf(x)f'(x)  ¢)2f(x)f (x) d) 2xf(x)

b) f/Ff (x) ) 2f()f' (x)  d) F)f'(x)

DR 9Ff(VE) (R

b) f(x) 0 f(x) d) f(x)
2Vx 2./f(x) m
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(©) f (xf(x))

a)2f () f' (x)

¢) 2f()f'(x)

) —fQOf (5)

01 )
(b) 1/f )

v of

0 f (ﬁ) ----------------------

af () (L

of (75)

aeall) ) igaadl g2 ALicdY) o3 sl

Find the derivative of -f alall idiied) oo o

b) f'(xf (X)) (xf'(x) + f(x))

d) f'(xf(O)(f' () +x)

d)()f()

—f'(x) f(x)
(f (x))?

fO)—xf'(x)
(f (x))?

b)f o) (

f&x)

V@ f'(x)

ﬂ 0503211610 = 23le 4alrall2025 -2024 als 1 i bl ) Balal 2 12 cinall JSia
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Find the derivative of .f alol daiiied) oo g

38. (a) 1+£()

)1 + f(x)f' (x*) b) f'(2x)f (%) o) 2xf'(x?) d) 2f(x)f' (x*)

(b) [1+f()]?

Q)L + 2xf' (x*) b) 2[1+ F(0)] (f'(®))
01+ F(Of () d)2[1+ f' (2)]

(© f(1+/W)
)l + 2xf! (x2) b) 2[1+ ()] (f/(x)
Of (1 + f)f' @) d) f[1+ £ ()]

Ao
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Find the derivative of an inverse function using the Chain Rule.

! Al a0 g iz S (17-22) 17
Al Ad)al) Adida XS
g daagd v & g'(x)=f,(;(x)) W eg=f1 e A\ g oha gl A 0N LG £ s 1)
| Flg)#0 o by !

___________________________________________________________________________

(2024-2023 Jsa )y 22-17 (2 178 pe GUsl) G s

g'(—1) 29 g(x) $ cusSma W f (X)=a3 +4x—1 Al sad (17
If the function f(x) = x3 + 4x — 1 has an inverse function g(x) find g'(—1)

D=7 DgED=-4  9g-D=-; dgCn=4

g (=2) 25 g(X) s cusSaalgd £ (x) AN o pai(18

f(x) has inverse g(x) find g'(-2)
fx)=x+4x—2,a= -2

a)g'(-2) == b)g'(-2)==4 ) g'(-2)=; dg'(-2)=4
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g'(5) 235 g(x) s cusSa g f (x) A o ga i (19
fxX)=x>+32 +xa=>5 f(x) has invers g(x) find g'(5)

2)g'(5) =1 g(B)=—4 OgB == dgE =4

20. f(X)=x>+2x+1,a=-2

Ag-D=;  DgED=-4  9gc2=-; dgE2)=;
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21. fx) =V +2x+4,a=2

g2 =5 bHg@=2 9gg@=-; dg@=:

22. flx) = VX +48 +3r+1,0=3

W =5 DI =5  0gB=--3 dg@=-3
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1l

Find the derivatives of trigonometric functions using differentiation rules.

1921
(152 ”

19a)f(x) = sinx?

a)f'(x) = 2xcos(x?)

O)f'(x) = —2xcos(x?)

b) f'(x) = xcos(x?)

d) f'(x) = cos(2x)

(lilaa U8 A ? 2)
” ” X

19b) f(x) = sin®x

a)f'(x) = 2xcos(x?)

O)f'(x) = —2xcos(x?)

b) f'(x) = 2sin(x*)cos(x?)

d) f'(x) = 2sin(x)cos(x)

Math &
2 (5N %) ,iq

R Math &

25N cos )
-0.5440211109
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Hlaa Js B ? )
: Calr
19¢)f(x) = sin2x

a)f'(x) = 2cos(2x) b) f'(x) = 2sin(x*)cos(x?)
o)f'(x) = —2xcos(x?) d) f'(x) = 2sin(x)cos(x)

20a)g(x) = cosVx

a)f (x) = — 20 b) f(x) = 200
c) f'(x) = sin(vx) d) f'(x) = 2sin(x)cos(x)

20b)f(x) = Vcosx

A (x) = S0 b) f'(x) = — sk

&) f'(x) = sin(Vx) d) f'(x) = S22
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(s Js u-°' hs‘
20c)h(x) = cos%x

o () = 45 b) £ (x) = — S
C)f’(x)=—%Sin(%x) d) f'(x) = Sf/’%

21a)f(x) = sinx*tanx

A) f'(x) = 2xcosx*tan x + sinx? sec? x <:I

2 2

B) f'(x) =2xcosx?tan x — sinx? sec? x

2 2

C) flx)= 2x cos x tan x* + sinx? sec? x

D) f'(x) =2cosx?tanx + sinx? sec? x
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21b)f(x) = sin?(tanx) (e JS % 2 gl

A) f'(x) = sin(tan x) cos(tan x) sec?® x
B) f'(x) =2cos(tanx) sec? x
C) f'(x) = —2sin(tanx) cos(tan x) sec* x

D) f'(x) =2sin(tanx) cos(tan x) sec* x <:I

21¢)f(x) = sin(tan®x)

A) f'(x) = 2tan x sec? x cos(tan? x) <:I

2 x cos(tan? x)

B) f'(x) =tanxsec

C) f'(x) = —2tanxsec? x cos(tan? x)

D) f'(x) = 2sec? x cos(tan? x)
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(an g5 B D sa
- - dx
a22)Find the derivative of the function f(x) = secx*tanx?

A)  f'(x) = 2x sec x? [sec? x? + tan? x?] <—
B) f'(x) = xsecx?[sec? x? + tan? x?|
C) f'(x) = —2xsecx? [sec? x? + tan? x?|

D) f'(x) = 2xsecx? [sec? x? — tan? x?]

b22) Find the derivative of the function f(x) = sec?(tanx)

A)  f'(x) = 2sec(tan x) tan (tan x) sec*x
B) f'(x) = 2sec*(tan x) tan (tan x)
C) f'(x) = sec*(tan x) tan (tan x) sec*x

D) f'(x) = 2sec*(tan x) tan (tan x) sec’:x <——
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oban g5 (b T s
" " X

22¢)Find the derivative of the function (c) f(x) = sec(tan®x)
A) f'(x) = tan x sec? x sec(tan? x) tan(tan? x)
B) f'(x) =2tanxsec? xsec(tan? x) tan(tan?x) <]
C) f'(x) = —2tanxsec? x sec(tan? x) tan(tan? x)

D) f'(x) = 2sec?x sec(tan? x) tan(tan? x)

e A Il oa ALLY) o2a sl

Find derivatives of natural logarithmic functions. (1-14)

12 192
i s Ol

1. f(x) =%

A fl(x) =x?e*(x+3) <_—
B) f'(x) = xe*(x +3)
C) fl(x)=x3e*(x+3)

D) f'(x) = x2e*(3x+ 1)
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2. f(x) = e* cos4x

A) f'(x) = e**(cos4x — 2sindx)x
B) f'(x) = 2e**(cos4x + 2sin4dx)
C) f'(x) = 2e**(cos4x — 2sindx)

D) f'(x) = e**(cos4x + 2sin4x)x

A) f(®) =2°In2
B) f/(®) =t+2"1n2
C) ff(O=1+2f

p) f'@® = 1+ 2* In2 <:|

e AGY Jigad) ga AL odd aa)

4y TEEY)
dx ~
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4. f() = 43

% e X
A) f'(t) =431 + 3t 1In2)
B) f/(t) = 43(1 + t1n4)
Q) f(®) =41 +6tn2) <7
D) f'(t) = 4°'(3 + tIn4)
5) f(x) = 2etx+1 2 g

A) f.r(x) — e4x+1
B) fr(x) — getrtl <:|
C) fr(x) — 4e4x+1

D) f'(x) — 4xe4x+1
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: = d

6. f() = (1/¢)

A) f'(x) =—e* <—

B) f/(x) =e™*
Q) f'(x) = —€*
D) f'(x) =e*

7. h(x) = (1/3)*
A) f'(x) = —x.In3. (3)_“72
8) f'(x) = 2x.1n3.(3) "

Q) f(x) =-2x1n3.(3)F < ———

D) f/(x) = x.1n3.(3) ™~
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e TLE ]

A) f'(x) = —2x.In2.47%

g) f'(*) = 2x.In2.47%

0 f'(x) = —4x.In2.47%" . <——

A f(w) = (2u + 4)ew H4u <
g) f'(w) = (u+2)e 4
Q) f'(w) = (2u + 2)ev +4u

D} f’(u) — (zu)eu2+4u

4

. 0503211610 5 4

/ gip saala 4alzali2025 -2024 PLG 14 QLu'AhJS\ 3alal iall <
~al pl2




e A Jpealt ga ALiudl) s2a aal %@N\
- g

10. f(u) = 3¢t

A) f'(u) = 3tanu. gsec’u
I SBCZH

g) f'(u) =3e

C) f'(w) = 3cot?u. et

D) f'(u) = 3sec*u.et® <—

e A g 52 ALindl) o3a aal ?@N\
: 4

1 E-iw

lf(w)—;
Waw-1

A) f’(W)=e (:: )

Waw-1
o) fowy =T =D

4w _
0 fw) =D
, eW(w—4)

D) f(w) = "

0503211610 = 23le 4alrall2025 -2024 als 1 i bl ) Balal 2 12 cinall JSia




w
12, flw) = pr=
1-6
n Fw) =S
1—6w)

13. f(x) =1In2x

2
n Fe=—

1
B) () =—
0 F() =0
D) f'(x) =2x

e A gt sa ALiudl) o3 aal ?@N\
: e
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: ¢
14. f(x) = In/8x

A FE=—

1
) ) =5 <

1
C) f'(x) =
1
D) f'(x) = 8x

0503211610 = 23le 4alrall2025 -2024 als 1 i bl ) Balal 2 12 cinall JSia




e Gl Jisad) oa ALl oda aa)

Use implicit differentiation to find derivatives of inverse trigonometric functions,
3 (2934 0

Ko ) el ] ) ) s

Q.13 Use implicit differentiation to find derivatives of inverse trigonometric functions.

S| Lusliad) Jload) Slatiios alag) 8 et ) Glaza ) placi] 13w

29, (a) f(x) = sin™ (¥* +1)

3x2

A f)= N <

3x?
B) f(x)=
! J1+ (3 +1)2
3x2
(x) = -
Q) f J1—(3+1)2 d . 4 1
Esm X= = for-1<x<1
1-x
3x?2
D) f’(x)=_\/1+(x3+1)2 icosﬂx: -1 , for-1<x<1
dx 1_1.2
d 1
___________________________________________________ Zl X= a
1 4 ot ly= 1
(b) f(x) = sin™" (/) dx 1+22
isc:c'11r= , for|x|>1
A F@ = . MV
2/x(x—1) d%csc_lx=-—l, for |x| > 1
lx|Vx% =1
1
B "(x) =
) () WD) <
1
C) f(x)=—2 x(1—x)
1
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30. (a)f(x) = cos™ (x* + x)

, _ (2x+1)
A f(ﬂo_,‘/l—(x2+x)2
L (2x+1)
B) f(x)_\/1+(:|c2+:|c)2
, —(2x+1) 4y —1 for-1<x<1
OfO =y e A
@x+ 1) %cos'1x= -1 , for-1<x<1
' _ — 1 =22
D) f(x)_J1+(x2+x)2 d 1 '
tanlx=
dx 1422
"""""""""""""""""""""""""""""""""" icot_lxz -1
dx 1422
b) f(x =C0S_1(2 .X') iS(:c'11r= 1 , for|x|>1
(b) f (x)
dx | Va2 -1
2 _ -1
A "(x) = —— —csclx= , 1
) (%) oy S-escx W or [x] >
, 2
B) f(x)=—m
2
c) f'(x) =~ =]
2
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31. (a)f(x) = tan“l(\/p—c)

A) fl(x) = ! <

2+/x(1 + x)
B) f() = -
) f0= 2Vx(1 + x)
) = ——
) = — <=
C) Vx(1+x) ism—lx: 1 , for-1<x<1
dx V1-12
2 d -1
f R —— —cos ' x = , for-1<x<1
D) F'(®) V(1 +x) dx 1-x2
&ty ]
o 12
--------------------------------------------------- a4
" g ﬁcot x_1+x2
( )f(x) = tan (1/3(‘) 4 e ly=— L , for |x] > 1
) dx Va2 -1
A) f'(x)=m 4 osecly=—L for |x| > 1
dx |x|vVx2 -1
B) ()=
) f(x)= AT <
1

0 F®=a=x

D) f'(x) = a-o
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32 @) )= V2 + tan~1 x

1
A "(x) =
e (1+x%2)y/2 + tan1x
1
B) fl(x)=-
) (14 x2)y2 + tan~1x

, _ 1
Q) F®= 2(1+ x2){/2 + tan™1x T 7

Esin X= , for=-1<x<1
V1-22
1
D) f'(x) =— _
) 2(1+ x%)y2 + tan~1x %cos"x: 1 = for-1<x<1
1-x
-1 1
____________________________________________________ —1t =
o
b = tan—1 x icot_1x= -1
b)f(x) =e ix 1+22
-1 1
_ —sec x=———— for|x|>1
A p =t & Va2 -1
1—x2 -
d%csc_lx=—l, for [x] > 1
|x|vVx2 -1
t -1
B) fr(x)=_ean x —
1— x?
0 etan"x
f(x)=_1+x2
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e
33. (@) f(x) = 4 sec(x?)
A) fl(x) = 16x3sec(x4)tan(x4) <:|

B) f'(x) =16x3sec(x*)

C) f'(x) = 16x3tan(x*)

D) f(x) = lﬁsec(x’*)tan(x“)
(b) f(x) = 4 sec™1(x?)
16

A) F(x) =
 I® =
16
KA
, 16
Q) f¥=—r== </
. _ 16
D) F() =~

Gl Jigaad) oA ALiad) p3a aa)

isin_lJr: 1 , for=-1<x<1

dx 1-x2

%coslam -1 , for-1<x<1
1-x2 [

d 1

—tan x=

dx 1422

i 4 -

—cot lx=

dx 14x2

d 1 1

—sec x=———— for|x|>1

dx Va2 -1

d%csc_lx=-—l, for x| > 1
|x|vVx2 -1

— S —
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34. (a)f(x) = sin~ ' (1/x)

1
A) ¢ -
) f(x) ——
B) f(x)= x;_l

7. 1
’ 1 i x= , for-1<x<1
D) f'(x) =- — V1 -2
d -1
Ecos X= , for-1<x<1
1-2x2
-1 1
------------------------------------------------------ —1 =
R P
(b)flx) = cs¢—1» 4 ot ly=
1+x2
—sec'lx—; for |x| > 1
. ax | Va2 - 1
A) f(x)=x\/1_x2 d%csc_lx=-—l, for |x] > 1
|x|vVx2 -1
1 R —
B) f(0)=—F
x —
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a) Find the derivative of a function at a given point.

) o Al is UM diiiall sl
17 (5-12) 153
Write the equation of a tangent line using derivative

il sl ol bl Uslas 281
T

) — i LE D T

datiel)  avlud) Can !
lim - gl (1)|

f'(a) = limf(x) AC)) x = a Las daised) Lol Casy=di(2)

xX—=a X —d

Q.17 (b) Find the equation of the tangent line for the function f(x) at the given point a.
ca dlasoll dhiill sie f(x) Il gulesd] bs Jsleos =91 (b) 17 cow

1) f(x) =3x+1, a=1
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Q.17 (b) Find the equation of the tangent line for the function f(x) at the given point a.
cadlasolldhiill jice f(x)dlol pulonll bs Uoles a=gi (b) 17 c—w

2) f(®=3x*+1, a=1

1

3) f(x) =Vv3x+1, a
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e alad) Jisad) ga ALY oda-aal

Q.17 (b) Find the equation of the tangent line for the function f(x) at the given point a.

4 f@) =

3
x+1

.aslasalldhill s f(x) DIl sulasl) b doles a>of (b) 17 .

0503211610 &
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Use the limit definition tofind ' (x)

Whd i f() s f)=3a2+1 < (5
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Use the limit definition tofind ' (x)
el iy i aladialy f(x) sl f) =23 4+2x—1 s (7
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Use the limit definition tofind f' (x)

ol i a3l ) AT iy 25 alaily f(x) s fx) = % el 131 (9
ARG Tt ?‘le f(x) da 4l f(x) = ) <ils 1y ( 10
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Use the limit definition tofind f' (x)

Juall iy i) o) Al iy gt aladiuly (1)

el iy i) o) Al iy gt aladialy  f(1)

a4l

2 old

f(x)=+3t+1 «ilsii(11

f(x) =V2t+4 <y (12
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Find derivatives implicitly.
18 (516} 204
gaill Bl Coliidial ol

Q.18 Find the derivative y' implicitly.
LGiews y' daiell 0291 18w

5) x’y*+3y=4x

6) 3xy® — 4x = 10y?
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8) i
sin(xy) = x?
-3
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10 A= B
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daf

12) xeY
— 3ysin(x)
=1

0503
2116
10 A= B
Ao saale dalral
1202
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) Balal
p 12 diall
Jsaa




(S e el Jlgud) sh AL o3a dAl

-

13) Y xty-4axt=y

14)  xcos(x+y)—y2 =8
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15) e* —In(y? +3) = 2x

16) e’y -3y +2=x2+1
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|Undarstand the Mean Value Theorem and use it in application,
1 (14 it

aWI@lpmljm,ldli«ﬁl@M;dﬂ!
a.h.ujw’ a..a..)ﬁ\ %JB.'\JS:\S
F(x) anas cale 13
(a.b) egzall 3,54l le 3laadt alis (2) [a.b] aalt) 5,51l e dliase atls (1)
Gaems ¢ €(a.b) JaY e sae asgs Z3la
oo o FDY— fa)
f(-:]——b_a

(a.h) ,ma0 e BLEAMMY ILI3 2 ) [a.b] rle dliata ped AN cal= 13]

THEOREM 10.1 (Rolle’s Theorem)

Suppose that f is continuous on the interval [g, b], differentiable on the interval
(a, b) and f (a) = f(b). Then there is a number ¢ € (a, b) such that f’(c) = 0.

THEOREM 10.4 (Mean Value Theorem)
Suppose that f is continuous on the interval [a, b] and differentiable on the
interval (a, b). Then there exists a number ¢ € (g, b) such that
fb) —f(a) (b) ~if (a)
f'(e) =
—a
Yy
&
&) —f@ y =S
—\ b—a p
: e : R
Secant line Mean Value Theorem
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— 2 y ol -
check the hypotheses of Rolle’s Theorem f(x) =x*+1, [-2,2] ddgoe (1

%ok @ia Al ¢ dadaa ) &5 ) Ay ki Gl 8 GiaS

Aogial] Laghll &5 plasily cdagd a2

Find a value of ¢ as guaranteed by the

Mean Value Theorem for the function

1) f=x*+1, [-2,2]

f)=x*+1, [0,2] 2020-2019 glaial

H 0503211610 A saale 4alaali2025 -2024 als 1 b lpdly ) 5alal 2 12 Cinall JSia




I
N

(S e el Jlgud) sh AL o3a dAl

Aszall Lol k5 plasiiuly ¢ dagd azsl

Find a value of ¢ as guaranteed by the

Mean Value Theorem for the function

3) f=x*+x%, [0,1]
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6) f(x) = sin(x), [—m, 0] check the hypotheses of Rolle’s Theorem

il weiell Loudll &,k5 alasiiwls ¢ doud o

Find a value of ¢ as guaranteed by the

Mean Value Theorem for the function

f(x) =sin(x), [-m0]

ALy Cagil

100 0503211610 s 52als 4alrali2025 -2024 ple 1 b Sluialy ) 3alal 12 Ciuall J<a




